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1 scilab #3E
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% scilab[Enter]
quit[Enter]
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1+2[Enter]
3*3[Enter]
2~ 0.5[Enter]
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X=4.2[Enter]
KEBAET N T 7 NYRTIHRED TN T7 NN BT/ T E =237
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%pi[Enter]
%e[Enter]

wEHK
1+%i*2[Enter]
Z=2+%i"3[Enter]
Z*Z[Enter]
%i "~ 0.5[Enter]
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[12;34][Enter]
%eye(2,2)[Enter]
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%zeros(2,2)[Enter]
%ones(2,2)[Enter]
A=[1 2 ; 3 4][Enter]
A'[Enter]

A"A[Enter]
%eye/A
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A=[1 2; 3 4][Enter]
B=A'[Enter]
A’B[Enter]
A./B[Enter]
A+%i"'B[Enter]
(A+%i"B)'[Enter]
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A=[1 2 3;...
4 5 6][Enter]
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A=1:0.5:3[Enter]

zeros(), ones(). eye()
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A=zeros(2,4)[Enter]
B=ones([1:4])[Enter]
C=eye(A' B')[Enter]
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A=zeros(2,4); [Enter]
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function [x,y]=myfct(a,b)
x=a+b
y=a-b

endfunction

myfct(1,2)[Enter]
myfct([1 2; 3 4],[1 2; 3 4]")[Enter]

X TTAIVTREEL, getf() THARL ZLETES,
getf('functiondeginition.sci')[Enter]

TS7LYIR
t=[0:0.05:1]'[Enter]
ct=cos(2*%pi*t) Enter]
plot2d(t,ct)[Enter]
square(-0.5,-1.5,1.5,1.5)[Enter]
tht=2*%pi*t[Enter]
plot2d(tht,ct)[Enter]
square(-%pi/2,-1.5,2.5%%pi,1.5) [Enter]

TI3T74YIR2
x1 =[-1:0.1:1];
x2 =[-1:0.1:1];

[xx,yy] = meshgrid(x,y);
plot3d(x,y,xx.”3+yy.” 3-3*xx.*yy);
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